
1

1

N

X

1

B.

2 (1) 13C 1.07 % C

12.000 + (13.000 12.000)× 1.07

100
= 12.011

A.

(2) 14C 14N
14C 14C 14C

14C 14CO2
14C

A.

(3)
1

16
=

µ
1

2

¶4
4

5730 y × 4 = 2.3× 104 y
E.

3 A E

26

20
= 1.3,

40

28
= 1.4,

40

30
= 1.3,

47

36
= 1.3,

58

44
= 1.3

B

B.

2

1 M a

=
8M

NAa3
(1)

=
8× 12.0 g/mol

6.02× 1023/mol× (3.56× 10 8 cm)3
= 3.53 g/cm3

D.

2
1

4

3 a× 1

4
=
1.73

4
× 5.43× 10 8 cm = 2.35× 10 8 cm

C.

3 Si 1 O 2 1 8 (1)

=
8× 60.0 g/mol

6.02× 1023/mol× (7.16× 10 8 cm)3
= 2.17 g/cm3

B.

4 A.

B.

C.

D.

E.

A.

5 A.

B.

C.

D.

E.

F.

C.

3

1 Cl2 O2 NH3 NO2 H2S NH3
H2S

2 C12H22O11 12C + 11H2O

3 (1) X x mol/L

x mol/L× 10.0 mL× 2 = 0.100 mol/L× 19.8 mL× 1
x mol/L = 0.099 mol/L

y %

5.00 g× y

100
= 0.099 mol/L× 0.500 L× 98.0 g/mol

y % = 97.0 %

D.

的中！



(2) C HSO4 H2SO4 1 2

[H+] = C [HSO4 ] = C 2

HSO4 À H+ + SO4
2

C C 0 2C

C +C +C +C

C (1 ) C (1 + ) C C (2 + )

= 0.085

[HSO4 ]

[SO4
2 ]

=
C (1 )

C
=
1

(iii)

=
1 0.085

0.085
= 11

E.

(3) (iii)

2.0 =
1

=
1

3

HSO4 Ka

Ka =
[H+][SO4

2 ]

[HSO4 ]
=

C (1 + ) · C
C (1 )

=
(1 + )

1
C =

µ
1 +

1

3

¶
× 1

3

1
1

3

C =
2

3
C = 1.0× 10 2 mol/L

C = 1.5× 10 2 mol/L

D.

4

C5H10O 1 1

OH CH3CO CH3CH(OH)

C=C CH=CH2

CH3 CH2 CH2 O CH=CH2
HCHO CH3 CH2 CH2 O CH=O

1

B.

2 ROH

2ROH + 2Na 2RONa + H2

R0 CH=CH2

R0 CH=CH2 +H2 R0 CH2 CH3

x : y = 1 : 2

B.

3

4 C5H12O 14

E.



5

5

1

4.4 g

44 g/mol
= 0.10 mol,

20 g

32 g/mol
= 0.625 mol

(1)

(0.10 + 0.625) mol× 8.31× 103 Pa · L/(K ·mol)× 300 K
1.0× 105 Pa = 18 L

D.

(2) mol

C3H8 + 5O2 3CO2 + 4H2O

0.10 0.625 0 0 0.725

0.10 0.50 +0.30 +0.40 +0.10

0 0.125 0.30 0.40 0.825

H2O

1.0× 105 Pa× 0.40 mol

0.825 mol
= 4.8× 104 Pa > 3.6× 103 Pa

H2O

O2 CO2 (1.0× 105 3.6× 103) Pa = 9.64 × 104 Pa

(0.125 + 0.30) mol× 8.31× 103 Pa · L/(K ·mol)× 300 K
9.64× 104 Pa = 11 L

C.

2 Al Cu Mg Cu Sn Cu Zn Fe Cr Ni

E.

3 x g (1.0 x) g NaCl Na+ + Cl

{0 ( 0.56)} K = 1.85 K · kg/mol×
½

x g

60 g/mol
+
(1.0 x) g

58.5 g/mol
× 2
¾
× 1

0.100 kg

x g = 0.22 g

A.

4 C H N Cl S G

Cl

D.

1

2 YMS

3 3 (2) (3)

4

4

5 1

1

75 %

東海大学（２日目）
化学

大的中！

直前講習会のプリントから!!


